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Question 11: 

What is sectoral composition of an economy? Is it necessary that the service sector 
should contribute maximum to GDP of an economy? Comment. 

ANSWER: 

The sectoral composition of an economy is the contribution of different sectors to total 
GDP of an economy during a year. That is, the share of agricultural sector, industrial 
sector and service sector in GDP. 

Yes, it is necessary that at the later stages of development, service sector should 
contribute the maximum to the total GDP. This phenomenon is called Structural 
Transformation. This implies that gradually the country’s dependence on the agricultural 
sector will shift from the maximum to minimum and, at the same time, the share of 
industrial and service sector in the total GDP will increase. This structural transformation 

together with the economic growth is termed as economic development. 

एक अथथव्यवस्था की के्षत्रीय संरचना एक वर्थ के दौरान अथथव्यवस्था की कुल जीडीपी में ववभिन्न 
के्षत्रों का योगदान है।  यानी जीडीपी में कृवर् के्षत्र, औद्योगगक के्षत्र और सेवा के्षत्र की हहस्सेदारी। 

 हां, यह आवश्यक है कक ववकास के िाद के चरणों में, सवेा के्षत्र को कुल जीडीपी में अगिकिम 
योगदान देना चाहहए।  इस घटना को संरचनात्मक पररविथन कहा जािा है।  इसका िात्पयथ यह 
है कक िीरे-िीरे कृवर् के्षत्र पर देश की ननिथरिा अगिकिम से न्यूनिम और, उसी समय, कुल 
जीडीपी में औद्योगगक और सेवा के्षत्र की हहस्सेदारी िढ़ जाएगी।  आगथथक ववकास के साथ एक 
साथ इस संरचनात्मक पररविथन को आगथथक ववकास कहा जािा है। 
Question 12: 

Why was public sector given a leading role in industrial development during the planning 
period? 



ANSWER: 

At the time of independence, Indian economic conditions were very poor and weak. 
There were neither sufficient foreign reserve nor did India have international investment 
credibility. In the facet of such poor economic condition it was only the public sectors that 
need to take the initiative. The following are the reason that explains the driving role of 
the public sector in the industrial development: 

1. Need of Heavy Investment: There was a need of heavy investment for industrial 
development. It was very difficult for the private sector to invest such a big amount. 
Further, the risks involved in these projects were also very high and also these projects 
had long gestation period. Thus, the government played the leading role to provide the 
basic framework of heavy industries. 

2. Low Level of Demand: At the time of independence, the majority of population was 
poor and had low level of income. Consequently, there was low level of demand and so 
there was no impetus for any private sector to undertake investment in order to fulfill 
these demands. Thus, India was trapped into a vicious circle of low demand. The only 

way to encourage demand was by public sector investments. स्विंत्रिा के समय, िारिीय 
आगथथक क्स्थनि िहुि खराि और कमजोर थी।  न िो पयाथप्ि ववदेशी ररजवथ थे और न ही िारि 
में अंिरराष्ट्रीय ननवेश की ववश्वसनीयिा थी।  ऐसी खराि आगथथक क्स्थनि के पहलू में यह केवल 
सावथजननक के्षत्रों की पहल करने की जरूरि थी।  ननम्नभलखखि कारण हैं जो औद्योगगक ववकास 
में सावथजननक के्षत्र की ड्राइववगं िभूमका की व्याख्या करिे हैं: 

 1. िारी ननवेश की आवश्यकिा: औद्योगगक ववकास के भलए िारी ननवेश की आवश्यकिा थी।  
ननजी के्षत्र के भलए इिनी िडी राभश का ननवेश करना िहुि मुक्श्कल था।  इसके अलावा, इन 
पररयोजनाओं में जोखखम िी िहुि अगिक थे और इन पररयोजनाओं में लंिी अवगि की अवगि 
िी थी।  इस प्रकार, सरकार ने िारी उद्योगों के िुननयादी ढांचे को प्रदान करन ेमें अग्रणी िूभमका 
ननिाई। 

 2. ननम्न स्िर की मांग: आजादी के समय, अगिकांश आिादी गरीि थी और उनकी आय का 
ननम्न स्िर था।  निीजिन, मांग का स्िर कम था और इसभलए इन मांगों को पूरा करने के 
भलए ककसी िी ननजी के्षत्र में ननवेश करने के भलए कोई प्रोत्साहन नहीं था।  इस प्रकार, िारि 
कम मांग के एक दषु्ट्चक्र में फंस गया था।  सावथजननक के्षत्र के ननवेश से मांग को प्रोत्साहहि 
करने का एकमात्र िरीका था। 
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